Download RWS water data from data distribution layer

# devtools::install_github("wstolte/rwsapi", force = TRUE)
require(rwsapi)

# retrive netadata
nmetadata <- rwsapi::rws_netadata()

# |l ook what's there, e.g. nitrate
net adat a$cont ent $AquoMet adat alLi j st $Par anet er _Wat _Orschri j vi ng[
grep(x = met adat a$cont ent $AquoMet adat alLi j st $Par amet er _Wat _Orschrijving, pattern = "nitraat", ignore.case = T)]

| ocati ecodes <- netadata$content $Locati eLij st $Code

gr oot hei dcodes <- netadat a$cont ent $AquoMet adat aLi j st $G oot hei d$Code

par anet er codes <- net adat a$cont ent $AquoMet adat aLi j st $Par anet er $Code
onschrijvingcodes <- netadata$cont ent $AquoMet adat aLi j st $Par amet er _Wat _Onschri j vi ng

mypar aneter = "NG3"
myquantity = "CONCTTE"

nyl ocation <- " SCHAARVODDL"

I oci ndex <- whi ch(netadat a$content $Locati eLijst$Code == nyl ocati on)
X = netadat ascont ent $Locati eLij st $X[ | oci ndex]

y = netadat a$cont ent $Locati elLij st $Y[ | oci ndex]

# create list for request
requestlist <- structure(list(
AquoPl usWaar nem ngMet adata = structure(list(

AquoMet adat a = structure(list(
Par anet er = structure(list(
Code = nyparaneter),
. Nanes = "Code"),
G oot hei d = structure(list(
Code = nyquantity),
. Nanes = "Code")),
. Names = c("Paraneter", "Gootheid"))),
. Nanes = "AquoMet adata"),
Locatie = structure(list(
X = X,
Y =Y,
Code = nyl ocation),
. Nares =c("X","Y", "Code")),
Peri ode = structure(list(
Begi ndatuntijd = "2013-11-27T09: 00: 00. 000+01: 00",
Ei nddatuntijd = "2019-10-01T09: 01: 00. 000+01: 00"),
. Nanes = c("Begindatuntijd", "Einddatuntijd"))),
. Names = c("AquoPl us\Waar nem nghet adat a", "Locatie", "Periode"))

# request data
response <- rwsapi::rws_observations(bodylist =requestlist)

# make datafranme fromjson response

for(ii in seq(l:length(response$content$Waarnemi ngenLijst))) {
tenp. df = data.frame(
| ocatie.code = response$cont ent $Waar nem ngenLijst[[ii]]$Locati e$Code,
EPSG = response$cont ent $\War nemi ngenLi jst[[ii]] $Locati e$Coor di nat enst el sel ,
X = response$cont ent $Waar nem ngenLijst[[ii]] $Locati e$X,
Y = response$cont ent $Waar nem ngenLijst[[ii]] $Locati e$Y,
# | ocationnane = ,
tijdstip = lubridate::as_dateti me(response$cont ent $Waarneni ngenLijst[[ii]]$MetingenLijst %% map_chr(list
(1), .default = NA)),



referentievlak = response$cont ent $\Waar nemi ngenLijst[[ii]]$MetingenLijst %% map_chr(list(3,3,1), .default
= NA),
benonst eri ngshoogt e = response$cont ent $\Waar nem ngenLijst[[ii]] $MetingenLijst %% map_chr(list(3,2,1),
default = NA),
kwal i t ei t swaar decode = response$cont ent $Waar nem ngenLijst[[ii]]$MetingenLijst %% map_chr(list(3,5,1),
default = NA),
benonst eri ngsapparaat = response$cont ent $\Waar nem ngenLi jst[[ii]] $AquoMet adat a$Benpnst eri ngsAppar aat $Code,
benonst eri ngsSoort = response$cont ent $\aar nemi ngenLijst[[ii]] $AquoMet adat a$Benonst eri ngsSoort $Code,
bi ot axoncode = response$cont ent $Waar nem ngenlijst[[ii]] $AquoMet adat a$Bi oTaxon$Code,
bi ot axonconparti ment code = response$cont ent $\Waar nemi ngenlLi j st
[[ii]]$AquoMet adat a$Bi oTaxon_Conparti ment $Code,
conpartiment code = response$cont ent $\Waar nemi ngenLijst[[ii]] $AquoMet adat a$Conparti nent $Code,
eenhei dcode = response$cont ent $Waar neni ngenLi jst[[ii]] $AquoMet adat a$Eenhei d$Code,
groot hei dcode = response$cont ent $Waar nem ngenLijst[[ii]] $AquoMet adat a$G oot hei d$Code,
hoedani ghei dcode = response$cont ent $\Waar nemi ngenLijst[[ii]] $AquoMet adat a$Hoedani ghei d$Code,
nmeet appar aat code = response$cont ent $\Waar nemi ngenLijst[[ii]] $AquoMet adat a$Meet Appar aat $Code,
nonst er bewer ki ngsnet hodecode = response$cont ent $\Waar neni ngenLi j st
[[ii]]$AquoMet adat a$Monst er Bewer ki ngsMet hode$Code,
orgaancode = response$cont ent $Waar neni ngenLijst[[ii]] $AquoMet adat a$Or gaan$Code,
par anet ercode = response$cont ent $Waar nem ngenLijst[[ii]] $AquoMet adat a$Par anet er $Code,
pl aat sbepal i ngsappar aat code = response$cont ent $\Waar nemi ngenLi j st
[[ii]]$AquoMet adat a$Pl aat sBepal i ngsAppar aat $Code,
typeringcode = response$cont ent $\WWaar nem ngenLi jst[[ii]]$AquoMet adat a$Typeri ng$Code,
waar debepal i ngst echni ekcode = response$cont ent $\Waar neni ngenLi j st
[[ii]]$AquoMet adat a$\Waar deBepal i ngst echni ek$Code,
waar debepal i ngsnmet hodecode = response$cont ent $Waar nem ngenLi j st
[[ii]]$AquoMet adat a$Waar deBepal i ngsnet hode$Code,
waar debewer ki ngsnmet hodecode = response$cont ent $Waar neni ngenLi j st
[[ii]]$AquoMet adat a$Waar deBewer ki ngsmet hode$Code,
nuneri ekewaar de = response$cont ent $Waar nemi ngenLijst[[ii]]$MetingenLijst %% map_dbl (li st (" Meetwaarde",
"Waarde_Nuneriek"), .default = NA)
)
if(ii 1= 1){
df = rbind(df, tenp.df)
}else df = tenp. df
}
df [ df $numer i ekewaar de>1e10,] <- NA
df <- df[!is.na(df $nuneri ekewaarde), ]

# if you wish to retrieve data fromnmany | ocations at once:
# sel ect |ocations based on waterbody
wsl ocations <- rwsapi::select_locations_in_waterbody(netadata, "westerschelde", 2000)

To be continued......
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